§ 3.1.1 &L (Fermat) 5|IE



[EX] % f(x) 7 (a,b) RBEX, Xy € (a,b). &
7E X I—PE Ulxy), 113

J) < flxp) (fx) 2 f(xp))  Vx € Ulxp),
) #R f 7£ xo BRSHRA (1) 1B,

wARE (R) ( ME (R) GIRARE (R) .

[iE£] 1. KESFERIEMZ.
2. F—TEXEA, f(x) I—TRIMERTBERTF—ERAK
{2, FIRERA R IRESR, LAIEERBNES.
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[Z55 (Fermat) 5|iE]
Jx) 1£ T X0 WY VLI

=3 =0
f) Ex, (IS } /o)

yA

(VEBX] # f(x) TR /N

RS, NEiZalY%F
17+ x 3.




[EX] FFHEATE (x) =0 SR f(x) B3Es (35
RES. Im5E=) .
[(E] % f(x) RIS,

X J9£00) BIRIELAR 7, /() = 0

[RBI] SHERE f(x) = x°,
mx=0 BEA, BHFE - i i
HRAE '

Ve
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§ 3.1.2 T/R (Rolle) FI



[ /R (Rolle) FIE]

f(x) 1 [a, b] L &L
f)TE (a,h) AR &
fla) = f(b)

[[LAEX] A8—< (im
=R A S —ERELE

2%, IR

5]

i = 1= A

%, NEDPFE—FKFEYZ.
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. F1£ ¢ € (a, b)gﬁ?%af

J(©) =

y=f(x)
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[(£] ZREENFEFTR—T]

iy al

J(x) =+

J(x)=
xel[-1,1

x, 0<x<l
0, x=1
yA

1 o 1 y
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[(£] EENFEETO. ZREERE N

) 7 (a. b) AT Z ZE ¢ € (a,b) 13
lim f(x) = lim f(x) [ = £(6) =0

xX—d x—b~

[(EBARR] <

fla™), x=a,
F(x) := 1 f(%), a<x<b,
f(b7), x=>b.

UERR F(x) i# &% /REERFA.
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[(£] Z/REELH THLANFRENE, BxakE—14, 1
REHRYE. U,

x* sin? l, x#0
fx) = :
0, x=0
£ [—1,1] BmeT /REENFEKE. 8
4x3sin2 L — x2sin=, x#0
f) = : :
0, x=0

FERRSMER ¢, = 2nn)™" (n € Z),
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5 1.2] K () =(x—-—1Dx=-2)x=3)(x—-4) B
I R AEIFRTE X |8).

[ 1.3] & f(x) 7 (a,b) R_A] &, H

fx) =) =), a<x <x<x3<Db.
IMEEDMFE—R S € (a, D), F15 17(E) = 0.
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S 3.1.3 AIfgEAHP{EEIR
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[£itgBAH (Lagrange) S {EEIE]

f(x) 1 [a, b] L &L
f(x) E (a, b)) R &

[[LIEX] #&EHEE
EXHRIH%ER AB L
Z20F—=R C, mizRad
I 1T F5% AB.

F1£ ¢ € (a,b) {E1F
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Yix: BEI&EESE N M
23 A

Pix):= tx) - Yu
N: BB Y V-fix) BSZE,

()= (b =0 J

?(\) f!ﬁ) i
v

(a,fl(a))
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[(X] HI/8EAHP{ETEIEE IR
=L ;_];( Y tew@b
—fgFrR ohitgEAH (Lagrange) 2=, HI]
J(b) —fa) =f ()b —a), ¢€Ia,b).
= -a))b-a),NEé=a+0(b - a),
f(b) —fla) =f(a+00b—a)b—-a), 6¢€(01).
Sa=x,b=x+ Ax, N

fx + Ax) = f(x) + F(x + 0Ax)Ax, 6 € (0,1).




[E] f(x + Ax) = f(x) + f(x + OAx)Ax BIA
Ay = f'(x + OAx)Ax,
EiEiAlRA T BE=E2. AZ=MEES NANSEE
KRR M2 RABRIZGEREN. B ERNS
Ay = f'(x)Ax + o(Ax)
AOBALEER.
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[#EiE]
1. f(x)=0Vxel
>dCeR: f(x)=CVxel
2. f(x)=g2'(x) Vxel
>dCeR: fx)=gx)+CVxel

[51] arcsin x 4+ arccos x = g, xe|[—1,1].

[511.5] —— <In(l+x) <x (x>0).
1 +x

[%1] |arctana — arctanb| < |a — b].
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[51] arcsin x + arccosx = g, xe|[—-1,1].

[:R7=] TR

(arcsin x + arccosx)’' =0, arcsin1 + arccos 1 = /2.

[511.5] —— <In(14+x) <x (x> 0).
1 +x

[#]] |arctana — arctanb| < |a — b].

[12~] FIFHAMREAH .
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$ 3.1.4 {74 (Cauchy) H{ETEHE



[fa78 (Cauchy) HETE

F1g]

f(x), F(x) 1E [a, b] £&EEE

f(x), F(x) 7£ (a. b)) AR &
Vxe@a,b): F(x)#0

[/E] é F(X) =X ET J:T

F1E ¢ € (a,b), (E1F
= f(&)  f(b) —fla)
F'(¢) — Fa)

~ F(b)

/ (b)

Bl ARIASERH 2 T0, PTPARL
WEAHPEEEZMATE o) :
E FERV4TIRIB N, 0 F(a)F(cf) F(b)yé
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[iX] HFREEEAPAE L E RS H P EEEN
ZHRIEA .

f®B)=f(a) _ /')

F(b)-F(a) F'($)

FHIRIR  EIRRIER

v,
x=F¢) ..

bor o

d_y — f’(t) f(a) -------- | i

e B0 o pape) Fe)



[ 1.7] % f(x) 1% [a,b] E&EZ, 7% (a,b) P

a,b > 0.MEFEC,n € (a,b), E15
Fo=""+b)
dl

[F]] 3 E€(l,e): sinl =coslné.

[753E] FUA 8 i b B R X
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[B]] 3 Ee€(l,e): sinl =coslné.
[+2] FIEAAREESEHFEER

(sinlnx)' = —coslnx = (Inx)'cosIn x
X

ZR f(x) :=sinlnx, F(x) :=Inx 7 [1,e].
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